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ECONOMICS
( Honours Elective )
Paper : ECO-HE-6016
( Environmental Economics )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate Jull marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed - 1x10=10
oS IR PP Sag fia

(@) What is meant by environment?

e 3o R om0
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(2)

(b) Which of the following is non-renewable
natural resource?

(Choose the correct option)

TR CITICOT SARIFITCIN AFEF 90K 7
(v Rewcor MR Tferean)

(i) Water
it

(@) Air
Rl

(iii) Petroléum product
¢ol’weTe TRAN

(iv) Fish and Cattle
AR HF T4

() What is public goods?

o 53 ¥ 2

(@ Define property right.

oI SR gz fam

Who has put forward the theory of
‘Tragedy of Commons’?

CHARH R CTRRTST  OEHl  (RI
SIEIE ?

( Continued )

9

(h)

@

0

. Answer the following questions :
To 2 e fa

(@)

A23/706

(3)

Mention one type of market-based
instrument for controlling pollution.

o FivaeR I 1 IR Ivm @R
T SeE T4 | ‘

Hydrocarbon gas is the major cause of
air pollution all over the world.

(Write True or False)

RGIRA O A et gl g A /R
24 R |
(@ @ w9 foran)

Ozone layer absorbs ____ radiations.

(Fill in the blank)
P EE ____ [fRRT cma 3@

(R 31 o[ )

What is travel cost method?
19 I “afo 2
Write the full form of TEV.
TEV 3 59 Feich1 forn o

What are the different types of
externality?

FRoR ST 2RER & R o

( Turn Over )

2x5=10



3.
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(4)

() Mention two consequences of global
warming.

IR Saeo o1 <RI BCEry F40 |

() Whatis environmental pricing?

AR R 2

(d) Distinguish between strong sustain-
ability and weak sustainability.

7 ITTEIO AF A IZTHAOE IS
o2 forar 1

(e Mention two ways in which biodiversity
loss may occur.

el (AR STA® =T /R T IRV TS
41 |

Answer any Jour of the following questions :

5x4=20

<o/ SPIAR R e oifeR T o

(@ Wri!:e a note on the need of the study of
environmental economics.

AR WA SR T AT
«ft O forar o e

{ Continued )

(5)

(p) What are the main reasons of market
failure?

Io4 RFeToR J4H FRIER & 7 2

(¢ Explain the main characteristics of
public goods.
A TR o CAMBIAR 00

(d) Discuss briefly the main indicators of
sustainable development.

TR S et S Re
YT SCEABA 41

(e} Write a short note on development-
environment trade-off.

- AR Rared Recy «f oy Gt forn )

() Why do we need environmental
valuation? Give reasons.

ofCa TeURA S 57 AR ? SR 7oA |
4. Answer the following questions : 1o‘x4=40
ToR PCIRT T famn

{a) Explain elaborately the nature and
scope of environmental economics.

o SRR oS R AR Sy IR
3l 90
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(b)

(©

(6)

Or/ 931
State the concept of free riding problem.
How is it related to market failure and
public goods?
TRIRA TPIR GRT [RO FR G
P IER RIerol I I TR AT
fmcd wfe ?

(7)

Or/ a1

Discuss about the different stages
of conducting contingent valuation
method for environmental accounting.

AR AR WA & TEWAF R
NafeCor S BTN SCeol 41 |

What is pollution control? Explain, in (d) Discuss the various rules of sustain-
detail, the different economic instru- ability to achieve its goals.
ments for pollution control. TN S o A AR R SR TeE
et ot gt R ARcer apa fagem , a1 RS FANCIR SCeTol 41 |
R ¥ Rfen st wifkaEam Regose -
A 90 | Or / %l

Or / 911 o .
What do you mean by Tragedy of Explain, in detal, .the concept of green
Commons? Is there any policy to accounting. Why is green accounting
overcome the problems of tragedy of very important at present?
commons? Discuss. Go® R YRR IR I 1 GRew
LR o IRl It oY R q@ 2 | SR YRETCHT TETS TS ARy R 2
GLIROAN T CTPARS! P AR A1
R S o= 7 e =4 | . xx
Explain the causes responsible for
climate change. Give some suggestions
to solve the problem arising for climate
change.
S R R FRPTR I 91 | TR
F° TG R ST TR AR QDA
> fon | .
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ECONOMICS
( Honoﬁrs Elective )
Paper : ECO-HE-6026
( lnternatibnal Economics )
Full Marks : 80
Me K houfs :

The figures in the margin indicate full marks
Jor the questions

y Answer 'eit,her,in _Engl_ish or in AsSqmese_ '

1. Answer the followmg questlons - 1x10=10
o P b .
(a) What is the main reason of mtcmatlonal )
trade? :
TR MR T TR R 2

(b) Who sald that a separate theory of
international trade is necessary? :

QA (3 (@ wEsifos ISR A b1 %
TG AT ?




(c)

@)

(e)

(9

(2)

What is factor endowment?

TR 2pFer / onpd 77

Define free trade policy.
& Jftes R e

What ig ;Srotectionism?
ARHRM R 7

Mention one factor affecting the pattern
of world trade.

mmﬁwﬁ«waﬁmﬁ—wm%w
TER :

Write one assumption of HeqkScl:ier—
Ohlin theory of intemational economics.

Wﬁs@w@f@mﬁ-w’ﬁamm

- wfeyR |

)

)

A23/707

Stéte one objective' of international
macroeconomic policy. . |
wEifes TRAM wdAey @b Trel IE
ESIN

Define tariff.
%9 e fran |

( Continued )

e

0

(3)

‘Mention any one purpose of ‘a’ trade
quota.

wmﬁq’rﬁmﬂtﬁaﬁﬁm@m

Tt 0
2. Answer the followmg questlons 2x5=10
oS o e ved fa s .
(a} Write  two subject matters. of -
* international economics. .
AT W 1 ﬁm fomr1
(b) Mention two reasons of h'ade accordmg
~ to Ricardo. '
ﬁwé’a e arﬁwn o ?pm ’@»rm FW
(c) State any’ two: limitdtions ‘of the
'Heckscher-Ohlin theory of international
trade.
CR-W R WI@"?@?I ?nﬁwx WZBW ﬁ I
Ll ﬁsmsr & 1|
(d) What is the main argument of Leontlef
, paradox?
ety S 71 YR R
A23/707 (Turn Over )



(4) ;5' (5)

{e)  What are the two types of exchange ‘ '(d) Distinguish between tariff barriers and
r?:te? J1051-Tarul DALISCS.
R g aeR PR - - . T WWWW‘%W M1
: o 'ﬁ‘fﬂ?ﬁﬂl R
| N () Discuss the impacts of financial
3. Answer any four of the following questions : - | globalization.
5x4=20 : REY (MR AR ST 1 |
S 2RICAIA R e wifRer ed fit : '
: | L () Write any five features of European
. . Monetary system.
a) Explain the reasons which led to the :
evolution of international economics as TN Y7 9T R e <iws @ o
a distinct branch of economies. \! '
AT o m‘;W m:?ll i ’ 4. Answer the folléﬁring questions : 10x4=40
A R : wore fr ey el fn
(b) Explain how international trade affects o
 production. , ' (a) Evaluate the importance of the
‘ Ricardian theory of international trade. 10
T
HRETeS qMAwR FEC gwmﬁw W?WWW&RWW
FE, IRN A0 : M
. . Or / 9l
. -Why 1.s loc tion ~essential for ' Discuss how the Heckscher-Ohlin theory
. International trade? Give reasons. explains international trade. 10
o e IR TTedd R gyl ? (- O9R (TS SRR e
199 woefiar | I, AT 47 |
A23/707 ( Turn Over )
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(7)

{6)
(b): .Fxplainethe. technological ‘gap model of , .
international trade. Is it superior to the © {d) . Distinguish between fixed and flexible
. Heckscher-Ohlin theory? 743=10 exchange rates. How is the equilibrium
- m’ L ; rate of exchange determined under
e ﬁ{f@ﬁm FIS ©GOT JNM - flexible exchange rate system? 4+6=10
F 1 <R TG IR St a2 | :
L * fm e AW R TR TR s R
S or/wm R RF 27 IS @R ST R
Critically discuss . the . product cycle
theory of international trade. " 10 Or/ 9%l
S %Qm. 5F SO GO , State the main features of multinational
o AL ' ' enterprises. Explain the . role of
. S p multinational enterprises in inter-
i ’ ational trade. 4+6=10
() Discuss arguments in support of free ) 1 n A
. it:.rade.} Would you support the policy of N s AfSEFPRRY T RIS I
_ cl;ee trade for "‘an underdeveloped e wEEfer TRws IREee ARHFFI bGil
untry? o 6+4=10 P I , |
‘g@"”sﬂ“_i T N R e w1
PT 9 IR ‘ * X *
- R T ler sme
Or / way
Analyze the effe
L cts of tariffs i .
equilibrium system. S In a partial 0
TP SR IR <
o O VN 7o
- + deORTR Roemd
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